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1. self-efficacy
2. shaping behavior
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1. What is a heuristic?

(A) a very intuitive method for making decisions
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(B) a rule of thumb or shortcut used for making decisions

(C) a highly unreliable method for making decisions

(D) a systematic method for making decisions

2. Directional plans
(A) must be long-term plans
(B) leave no rooms for interpretation

(C) are flexible and general guidelines for employees’ behavior

(D) must be made by top management

3. Which is a weakness of a functional structure?
(A) overemphasizing organizational goals

(B) favoring organizational goals over functional goals
(C) favoring functional goals over organizational goals

(D) failing to attain economies of scale

4. Which of the following is the best way to evaluate a training program?

(A) how much trainees have learned

(B) how much information trainees have retained

(C) trainees’ actual job performance
(D) how costly the method is

5. Which of the following is not listed in fourteen principles of management of Henri Fayol?

(A) separation of planning and operation
(B) unity of command
(C) division of work
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(D) scalar chain
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